
Subject: Re: PLOT question
Posted by davidf on Thu, 21 Dec 2000 00:40:19 GMT
View Forum Message <> Reply to Message

Craig Markwardt (craigmnet@cow.physics.wisc.edu) writes:

>  Oops now that I look at the question again, I think maybe Stuart was
>  just looking for (T-T0)/P, without the MOD?  Or, a way to sandwich
>  together many distant cycles?  If the latter, that's a bit more
>  difficult.  A small program would be needed to join these intervals
>  together.

Oh, now, writing a *program* is WAY over the top! 

Cheers,

David

P.S. Let's just say this is the reason I only suggested
an *idea*. :-)

-- 
David Fanning, Ph.D.
Fanning Software Consulting
Phone: 970-221-0438 E-Mail: davidf@dfanning.com
Coyote's Guide to IDL Programming: http://www.dfanning.com/
Toll-Free IDL Book Orders: 1-888-461-0155
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